1.

@5 ® 6 @ 7 ®)8
‘ 32 =202 23 x 2% = 28

O 4




2. 47— ixD - 8t 2 WEAE FAS x, yol Hheke] xoy I
)

@© 4 @—3 ® 6 @ 9 ® 12

(22)x+3 :22x+y — (23)4 :212
2x+6=12, 2x+y=12
y=6,x=3

L x—-y=3-6=-3




(a2b3)4
(@)

b6 A o, m+n o = ool

> E.

> H™eh: 8

B

(a2b%)  (a 8b12) a
(ab3)m — (amb3m) 6
3m—-12 =06

m=06
8—m=nOlBE n=2o0|t}
T m+n=3_8




o] 1].(])34\_(2 , (_1)n—1 4 a2n—2 + (_a)2n+l + a2n+1 _ (—(1)2"_2 _

4. n
(=13 o] Zh2?

®-« @-2 @ @ 2 ® a

n o] z_z]-z,\_?_:] , -1+ a2n—2 _ a2n+1 + a2n+1 _ a2n—2 +1=0
7 O] _'g__/[\_?__l_] HH’ 1+ a2n—2 _ a2n—1 + a2n+1 _ a2n+2 —-1=0

whebA] B k4ol diste] o oltt.




5. 3'x32=7200]122x43+8=2 4w, x4y o ZF2?

o7 @ 8 3®)9 @ 10 ® 11

Lx+y=9




42 = gt ol x O] 27

@ 2 @4 ® 6 @ 8 ® 10

B

(22)4x+2 — (23)2x+4
28x+4 — 26x+12
8x+4=06x+12

L x=4




® 81

328 = 32¢ x 33 = 9¥ x 27

[_Jetell Bof2 4= 2700k




8. x+y=30°]1,4=2", B=2" Al AB °| 27

@ 22 @ 2! @26 @ 28 ® 2'0

AB = 92% % 92y — 92x+2y _ 22(x+y) — 92x3 _ 96 0]‘:]'




9. Xx=2¢d ] K(X)=aZ A3t oJuf, k(2102 5 42m=6) o] Zr-&
F-sholet.

> E.

> =g 4

24(m—2) ~ 42m=6 _ 9a
94m-8 . 22(2m—6) — 94m—-8-4m+12 _ 94

T a=4




o, (—4)? + (=2) = (-2)* oI x +y 9 W= Tt

@ 8 @®)10 ® 12




11. 180° =2 x 3" x5 A W, x +y+z #k& 75HA?

@ 10 @15 ® 20 @ 25 ® 30

180% = (22 x 32 x 5)3 = 26 x 30 x 5% = 2* X 3 x 5
x:67y:6,Z:3




_ b _ 9
12, (Z20) = T g g b e o grg Fotele,

y ySC

=t
[=

>
>3 5

B

(—5xa>b _(-1)Psbxmt —125x°
y » y3e
5% =125, b —3

¥ =x% a=3
b=3c:3,c=1

“a+b-c=3+3-1=5




-

ul

A

.

ull

.

ull




14. oh5olA x+y+2z 9 #= F5Hd?

@ 18

®)19

(a2>3 X (a3)x — a18
116 X a3x = als

6+3x=18 Sox=4

at 3 @
(5) =5
a12 &
wow o TR
(a®b)* + a® = a*b®
a2zbz = a = a4b3
a%2pt = g4p3 L z=3

Cx+y+z=44+124+3=19




15. 32x92=27x3" & WZd}l=g
=

>
> =gt 3

od =

ZF

~&B

32 %92 =27 x 3¢
32 x(32)2 =33 x 3¢
32 x 34 = 36 — 33+«
a=3




L

\_/—{—AA

12 4 A% e] elste] 2] st
—x)" X (=x)"F3 4 ¥ x X3

1)n ( )n+3( )n+3 + x2n+3

1)2n+3 2n+3 +x2n+3

3L pol Hed uel £ 1) RE S4o0]B 2
( )n+3 N Ft3

( 1)2n+3x2n+3 + x2n+3

_ _x2n+3 + x2n+3 =0




=0l ofd S a, bol tiobe] 20420 < 14 20%0 (T G2 =a=0E+=
b=0d o )0l AT a+b+c=4%Y o], 29 + 20 4 2¢ 9]
FgkS Fotodel (Fe>0)

> g

> HE 18

20420 420<1 420012 (F, T2 Ea=0FE=b=02 1
49)

20420 +2¢ <14 (14 2010F) (B, T8 E=a+b=0E=c=0
oo )

20 +2°42°< 14+ (1+2%)

20420 +2°< 18

b H A2 18 (a=0,b=0FEb=0,c=0FEc=0,
a=04% o)




18. 2"=x6"=y et T o, (2" + 2" ) x 3" S x, y E ARSI o2
Uehedet,

> E.

> He: oy

~&B ~

6" vy
n: 2 n:2n n n:—:—
6" = (2x3) x 3", 3 o =y

242l =9n L 22 = (142)x2" =3 x 2"
(2042 x 3t = (3 x 27) x 3L
=3"x2"

X




19. 777" o] Q| Aele] 54g Fofoler.

4
> =gt 3

od =

B

79 AFAE 2 A9 A= 7,9,3,1 o] A& WHEHT
77(7>2 _ 7749 oﬂkl

719 o] o] 229 A= 49 = 4x 12+ 1 O] & 7 o]t}

x =79 Aol 7o Qo AT 2= 77 o Lo A
sAet gonz

7 =77 0] Qo) o) 2R 7 = 4x1+3 0| BE 3oz},




20. 2430 = 3* +3"? & W=hE x o ghe Fokefet

> E

> ®™et: 5

2430 = 3* + 3* T2 = 3%(1+32) =3*- 10
243 = 3*
L x=25




